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5. It is know that three side lengths (:£ % ) of quadrilateral (= ¥
%) are give as shown at the right. What is the area (& #%) of

this quadrilateral in square units?
(A)192 (B)96 (C)75 (D)60
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6. Michael and Victor depart (! %) from (&) city A toward (2 ) city B. Victor departs 6 5
minutes (4 4&) after Michael ( % Michael 2. {¢), but Victor arrives (¥]i£) in city B 6
minutes earlier than (% *%) Michael. It is known that Michael walks 40 m/min, but 1 KE\
Victor’s speed (i# & ) is 1.5 times(#% ) Michael’s speed. What is the distance in meters \ﬁ
0
1 2 3 4

between city A and city B?

7. 83 12345678 ~9{ &M " v ~F L L3

W Az M SlcF 2 ff S 48

P "Rz R hfF 2 e 150"

EVRE R T S SR ST SR I RN S
20" IRAT BBl R4 A Z b A S e

8. 4k — Bw i Hc = THcefrd 2020 ¥ f v ez #Ad 0~3-6-
a~a~brci7 BEF(HY 33 BAAR)EX T B HRGE TN LT

IF o
Z P EA(FEI0A 0 2 204)
Lo-ml#sigsg 545 AnlE A3 ~ 3 E -5k ot s 2 35 51530
3 A~2-3-4-56~7~8~9~10~J~-Q~K &35 133 »7RAE T ¥ B
ko PN - By A RMEAE R 24

’L‘
0|
= =
L 'y

e

Aravil g 4 E B Ariedl AR 4 E B
Singapore Final (Grade 4) Singapore Final (Grade 4)



